KHEXADIZEEHFEEIRR

AAKRIET (SHRELDIBEDLLE)

BB HFEEINT SBREARCEDHDES
DHRE | BHH3E 1Rk DHR2E | BH3E
BEUHR 437 474 +37 BEERSE | 43.7%|  49.8%
FEEE 2 0 -2 —RERSR 24.3%| 25.9%
BHEER 19 18 -1 EYEESR | 31.1%|  25.9%
BEES 468 507 +39 975 —B5R 7.6%|  8.0%
SEfGEET 489 525 +36 FLOESR 5.3%|  2.7%
SEESER | 34.8%| 30.8%
BT 0.6%|  0.3%
-

1AHB5128BFKET (SHTELSIRENLE)

OB SFEEINDT EHEARCEHDES
SHTE | BH2E 18R SHTE | HH2E

B 1,332] 1,259 -73 EeRERISE | 45.9%| 47.1%
ALK 7 14 +7 “HBEESE | 23.0%| 22.5%
EHEER 59 56 -3 EYERSR 30.4%| 30.8%
BISES 1,420 1,317 -103 9r3-B5E | 12.0%|  8.3%
SEgEst 1,486 1,387 -99 FLERSER 53%| 5.1%
BERSE | 34.4%| 31.5%
BROBER 0.5%|  0.8%




